Kerala Engineering Entrance Examination 2006
Mathematics

1. Let ABCD be a parallelogram and let E be the mid-point of side AB. If EC
is perpendicular to ED, then

(AYED=EC (B) EB=BC
(C)EA=ED (D) EC+ED=2BC (E) EC+ ED=2DC
2. The radius of a circle is increasing at the rate of 0.1 cm/scc. When the

radius of the circle is 5 cm, the rate of change of its area is

(A) ~mem? /sec (B) 10nt cm? /sec

(C) 0.1t cm? /sec (D) 5mem? /sec (E) ncmzlsec
3. LetD={1,2,3,5,6, 10, 15, 30}

Define the operations ‘+°, ‘-’ and ‘’’ on D as follows

a+b=LCM (a,b),a-b=GCD (a, b) and a’ = 2. Then (15" +6) - 10=

(A) 1 (B)2 ()3 (D)5 (E) 10

4. IfA+B=TZthen(tanA+1)(tan B+ 1) equals

(A) 1 (B) V3 ©€)2 (D) -L EB) 2

&
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log. 9 ioge27 Ioge81

S. log.3 - 52 32 22

. log,5 log, 3
(A) (log,3)(log.2)  (B) log,3 (C) log.2 (D) 8e> () 28>
log, 3 log, 2

6. The roots of the equation (g—r)x* +(r— p)x+(p~g)=0 are

’

®LL 1 L2 L2 ® 2
q-r q-r P—q p—q

7. The interior angles of a polygon are in A.P. The smallest angle is 120°

and the common difference is 5°. The number of sides of the polygon is
(A) 9 (B) 10 €16 (D)5 (B) 8
8. The direction cosines of the line 4x—4=1-3y=2z-1 are

4

B T ®) 5 7 T

-3 2
D)4,-3,2
© & Tr r ® ® T 75 755
9. The digit at the unit place in the number 192°% + 1129 _ 920% jg
(A2 (B) 1 (O (D)8 (E)9

10. If xe” = y+sin®x, then % atx=0is

(A) -1 B)O0 O1 (D)2 (E) -2
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11.

12.

13.

14.

15.

The number of triangles which can be formed by using the vertices of a

regular polygon of (n + 3) sides is 220. Thenn=
(A)8 (B)9 O 10 M1 (E) 12

If [x] denotes the greatest integer < x

21,02, 17,02, 2],...4[2, 98] _
then [§J+[§+®]+[§+®]+ +|:3 + 99:] =

(A)99 (B) 98 (C)66 (D) 65 (E) 33

The center of the sphere passing through the origin and through the

intersection points of the plane -;—‘-+-)1 +-§'— =1 with axes is

b

®(390) ®(039) ©(003) O (530)(355)

In an arithmetic progression, the 24™ term is 100. Then the sum of the first

47 terms of the arithmetic progression is

(A) 2300 (B) 2350 (C) 2400 (D) 4600 (E) 4700

If the vertex of the parabola y = x? —16x+ K lies on x-axis, then the value

of Kis

(A) 16 (B)8 (C) 64 (D)-64 (E)-8
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16.

17.

18.

19.

20.

http://education.mathrubhumi.com

Let @ be an imaginary root of x” = 1. Then (5-®) (5-©%) - - - (5-0™ ) is

w1 @I (RO E= () 5™

An integrating factor of the differential equation,

(1+y+xy)de+(x+x") dy=0is
(Mlogx  (B)x ©e ®»:  ®=

The line 2x — y = 1 bisects angle between two lines. If equation of one line

is y = x, then the equation of the other line is
(A)Tx-y-6=0 B)x-2y+1=0

(C)3x-2y-1=0 [D)x-Ty+6=0 (E) 2x -3y +1=0

b1

4
Iff(x)=tanx—tan3x+tan5x-... tocowithO<x < %,men J- f(x)dx=

0

A1 (B)0 © = ®<  ® -

4 2 4

n
The standard deviation of n observations x,,x,,...,x, is 2. If Zx,- =20 and
i=1

n
Zx,-z =100 ,thennis

i=l]

(A)10or20 (B)5or10 (C)50r20 D)Sorls (E) 25



21.

22;

23,

24,

~ Area (in square units) enclosed by y=1, 2x+y=2 andx+y=21is
w5 B (©) 1 (D)2 (E) 4

“The ratio in which the line x + y = 4 divides the line joining the points

(-1, 1) and (5, 7) is

(A)l:-2_ B)2:1 ©1:3 D)3:1 (E)3:2
The set of all x satisfying the inequality g ;} 21is
DU B 1 I S oo 2)Ul2 e
Wil @i
© (-1 )ul) ©) (=eo-2]Ula.)
1 1
@ (=5
a+x b c
a b+y ¢ |=
a b c+ 7
(A)abqr_(l+-§+%+%) (B) abc (1+£;;+%+%)
© 0z (+4+2+9 (D) xyz (1+2+2+4)

E)xyz(a+b+c+1)
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25,

26.

27.

28.

29.

- (A) 455

If 5Cis+2("%C1e) +""Cis+ 1 ="Cs, then n =

(A) 19 (B) 20 (O) 18 (D) 24 (E) 21
hm( 123+ 223+ + n23]=
asel 1—p” 1-n 1-n
1 1 1 1
(A 3 (B) -3 © 7 (D) —¢ (E)0

- A A AN A AA — AN - >
If A=i+2j+3k, B=—i+2j+k and C=3i+j, then A+tB 15

o
perpendicularto C ift=

(A) =5 (B) 4 (C)5 (D) -4 (E) -7

The number of ways in which one can select three distinct integers between

1 and 30, both inclusive, whose sum is even 1s

(B) 1575 (C) 1120 (D) 2030 (E) 1930

The set of values of x satisfying 2 < | x - 3| <4 is
(A) -L1JUI57) (By-4< x<2
C)-1<x<T7orx=35

(Dyx<7orx=5

(BE)—co<xLlor5<x<eo
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30.

31.

32,

33.

34,

2

334 365
If i =+/-1, then 4+5(—§+££] 3(——+i) 1s equal to

(A)1-if3  (B) -1+i3 (C) i3 (D) -i3 (E) 1+iv/3
The angle between the lines \/§x~y ~2=0andx— 3y +1'=01s
(A) 90° (B) 60° (C) 45° (D) 15° (E) 30°

Let f(x) = x — [x], for every real x, where [x] is the greatest integer less than

1
or equal to x. Then I f(x) dx is

-1

(A) 1 (B)2 (©)3 (D)0 E) 1
x2

If J f(H)dt = x cos mx, then the value of f(4) is
0

(A) 1 (B) 5 (©-1 D) (B) -4

Ify= (1+—1—N1+3)(1+§»]...(1+£) and x # (), then @)— when x =—1 is
x /X X X dx

Al Bzl  (© Dla=1 (D) 1| EB) |n+1
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3s.

36.

37.

38.

39.

If in a triangle ABC, a=15, b= 3.6, ¢ =39 then sing =

2
V3 ] 1
(A) B3 (B) 5

(C)—_\,% ® -7 (E)—%”

Let A = {1, 2, 3,4}, B = {2, 4, 6}). Then the number of sets C such that
ANB c C CcAUB is

(A)6 (B)9 ()8 (D) 10 (Ey12

A force of magnitude V6 acting along the line joining the points
A(2, -1, 1) and B(3, 1, 2) displaces a particle from A to B. The work done
by the force is

(A) 6 (B) 66 (C) V6 (D) 12 (E) 26

If z is a complex number such that Re (z) = Img (z), then
(A)Re () =0 (B)Img (z)=0
(O Re(P)=Img (")  (D)Re () =-Img @) (E)72=0

Equation of the plane parallel to the planes x + 2y + 3z -5 =0, |

x + 2y + 3z — 7 = 0 and equidistant from them is
(A)x+2y+3z2-6=0 B)x+2y+3z-1=0 -
OC)x+2y+3z-8=0 D)x+2y+3z-3=0

(E)x+2y+3z-10=0
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40.

41.

42.

43.

The number of binary operations that can be defined on the set A = {a,b,c)
1S
(A) 3’ (B) 3* ©3 O (E) 3

If (2%% —x—1)° = a,+ax+ a2x2+ e Hay x'°,

then, a,ta,+ata,+a =

(A) 15 (B) 30 (O) 16 (D) 32 (E) 17

If the plane 2x -y +z =0 is'parallel to the line 2x2_1 = 2;}‘ _ 2t , then
the value of a is

(A) 4 (B) -4 ©)2 (D) -2 (E)O

For an equilateral triangle the centre is the origin and the length of altitude

is a. Then the equation of the circumcircle is

AP +y =d* (B) 3x* + 3y* = 2d°

(C) x*+y* = 4d* D) 3% +3y° =a° (E) 9x* + 9y’ = 44°
Let Q (a, b) be a point on the line x + y = 1. Then the equation of a set of
points P(x, y) such that its distance from the line x + y = 1 is equal to its
distance from the point Q (q, b) is

A)x+y—-a-b=0 B)x—-y+ a-b=0

Cx-y—-—a+ b=0 O)x+y+a+b=0

EBE)x-y-a-b=0
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45.

46.

47.

48.

49.

Let fbe a function such that f(1) = 10and f'(x)22for 1 £ x<4. How small
can f(4) possibly be?

(A) 8 (B) 12 (C) 16 D)2 (E) 10

The solution of the differential equation x%+ 2y=x’is

2 2
A _X tc _x
(A) y Y B)y n +c
A * +c X ¢
C) y= D) y== E) y=—+—
©) y= D)y " By R
1 V3
cos80° sin80°
A)V2  B)B (€)2 (D) 4 - (B)45
y =-A cos 5x + B sin 5x satisfies the differential equation
(A)iz—~+10~—-+25y =0 (B)—‘?—Z——lody+25y=0
dx dx
d%y d’y
(C)——----—25y 0 (D)———+25 0

2
(E) %;%-&25)2:0

If_f pdx = AVx + Btan™ Jx + C then

(A)A=1,B=1 B)A=1,B=2

(C)A=2,B=2 D)A=2,B=-2 (EYA=-2,B=-2
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50. The equation of the tangent to the curve y = (1+x)” + sin™ (sin’x) at x =0 is

(A)x—-y+1=0 B)x+y+1=0
(C)2x—y+1=0 D)x+2y+2=0 (B)2x+y-1=0
51 J‘)c3 sin[tan_l(x4 )] dx =
. 1+ %8
(A) %cos[tan—l (x4)]+ ¢ (B) —tlisin[tan'l (x* )]+ c
©) ———i:cos[tan_l (x4)]+c (D) zlt—sec'I [I;an~l (x4 )]+c

(E) - %cos'l [tan - (x4)]+ ¢

52.  An anti-aircraft gun can take a maximum of four shots at any plane moving
away from it. The probabilities of hitting the plane at the 1st, 2nd, 3rd and
4th shots are 0.4, 0.3, 0.2 and 0.1 respectively. What is the probability that

at least one shot hits the plane?
(A)0.6976  (B)0.3024 (©)0.72 (D)0.6431 (E)0.7391

53.  The statement ~(p — g) is equivalent to

(A) pA(~q) (B)~png  (C)paq (D) ~pA~q (E) pvg
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54. Let ABC be atriangle withb=5, c = 11.
If the median AD is perpendicular to AC, then a =
(A) 12 (B)13 C)14 (D) 15 (E) 16

55. A bag contains 3 black, 3 white and 2 red balls. One by one; three balls are
drawn without replacement. The probability that the third ball is red is

edual to

2 3 i 12 14
A)= B) — C) — D) = E) —
()56 ()56 ()56 ()56 ()56
x-3 y-1_ z+4

2 1 =2

56. The angle between the line and the plane,

x+y+z+5=0is

(A) sin“‘(%) (B) sin“ll%)
() g- (D) sin“l(—;ﬁ) (E) sin-1(2)

. AA A . A A A
57. . A.vector perpendicular to 2 i+ j+k and coplanar with i+2 j+k and

AA A
i+ j+2k is

AAS A FASRPA
(A) 5(j-k) B) i+7j-k

© 5+ D) 27-77-% () 5+ %)
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58. If [2 1} A[ﬁs 2 }:[1 0}, then A is equal to
3 2 5 =3 0 1
1 1 11
A
ol o]

f1 0 0 1 2 1
o | ™[] 1] ® ;1]

59. The point on the curve y = 2x* — 6x — 4 at which the tangent is parallel to

the x-axis is

3 13 5 17
W2*2 ®) (“5’“3‘)

3 17 | 3 17
© |5+ D) (0, - 4) E) (_2.,_“2)

- K A — ANCEEA LA

A Ay
60. If a=2i-3j+pkand axb =4i+2j-2k,thenpis
(A)O (B) -1 )1 (D)2 (E) -2

A —>
I

6l. Let a=i-}j, . If dis a unit vector such that

S
ol
&l

)

>

>

-k i+ -2k i+
+ - I+ J— 2} 1+ j+
Byt———— (O & D

+k  (B)i+]
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62. A tower subtends an angle ¢ at a point A in the plane of its base and the
angle of depression of the foot of the tower at a point b ft just above A is P.

Then the height of the tower is
(A) btan o cot B (B) bcot o tan B
(C) bcoto. cot B (D) btan o tan 3 (E) b tan®* o cot

63. If o and B are the roots of the equation x* — 7x + 1 = 0, then the value of

1 1

R

(A) 45 (B) 47 (C) 49 (D) 50 (E)s1

64.  The equation of the sphere whose centre is (6, -1, 2) and which touches the

plane 2x -y +2z-2=01s

(A X +y+7 - 12x+2y—-4z-16=0
B)xX*+y + 77— 12x+2y -4z =0

O X+ Y +22 - 12x+2y—-4z+16=0
D)X+ +7-12x +2y—-4z+6=0

(B)x*+y*+ 22— 12x+2y-4z-5=0

65. Let X and Y be the sets of all positive divisors of 400 and 1000 respectively
(including 1 and the number). Thenn (XNY) =

(A4 B)6 (C)8 (D) 10 (E) 12
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66.

67.

68.

69.

70.

The value of log, log, log, 256 +2log ; 2 is

(A)1 (B)2 (€3 (D) 4 (E)5

. The radius of a sphere is measured as 5 cim with an error possibly as large

as 0.02 em. The error and percentage error in computing the suiface area of

the sphere are

(A) 0.8 and 0.2 % (B) 0.87 and 0.8 %

(C)0.4m and 0.4 % D)nand 1 % (E) 0.6mt and 0.6 %
If jxf(x) dx = —fg—l, then fix) =
(A) & (B) ™ (C)logx (D) 32 (E) *
lcos(x—a) cos(x+a) cosx
The value of |sin(x+a) sin(x—a) sinx | =
cosatanx cosacotx cosec2x
(A) 1 (B) sina cosa o (D) sinx cos x (E) cosec 2x
_ 2 2
The eccentricity of the hyperbola in the standard form %_;‘% =1 passing
through (3, 0) and (3v2.2) is
ORI RVE ©3 (D) i?— OF
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71.

72.

73.

74.

If a, b and ¢ are in geometric progression and the roots of the equations

ax* + 2bx + ¢ = 0 are o and B and those of,cx%l+ 2bx +a=0areyandd

then
(A)a#PB#y#d (B)a#Bandy#d

(C) ac. = aP =cy = ¢ (D)ae=Pand y#3d (B)a#Pandy=9

If in the triangle ABC, B=45° , thena’ + b* + ¢*=

(A) 288 +cD) B) 2 (d®+bY)

C) 2% @+ D) (D) 2(@*b* + b ct + ¢t d?)

(E) 2a°b*+2b*c* +3a*?

The differentiable functions f, g, h are such that _

f'(x) =g(x), g'(x) = h(x), W' (x) = fix), f0) =1, g(0) =0 and ~(0) = 0.
Then the value of f>(x) + g°(x) + F*(x) = 3 f (x) g(x) h(x) atx =15 is

(A)0 ®B) 1 ©)2 D)3 E)5
Suppose A is a matrix of order 3 and B = |A| AT If |A] =<5,

then |B] is equal to

(A) 1 (B)-5 -1 (D) 25 (E) —- 125

A differentiable function  flx) is defined for all x > O and
satisfies f (x°) = 4x" for all x > 0. The value of f*(8) is

| 1
32(2)3
3

w2 ok 2 g
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76.  The equation of the hyperbola whose vertices are at (5, 0) and ( - 5, 0)

. . ) 25 .
and one of the directrices is x= = 1S

2 2 2 2
A) -2 =1 By -2 =1
25 24 24 25
R T 2 2 2 2
O -2 =1 (D) -2 =1 (E) -2 =
16 25 25 16 25 24
77. If o and B are different complex numbers with | § | = 1 then IB:EO[;
equal to
(A)0 (B) 3 ©) 1 (D) 1 (E)2

78.  Let f denote the Boolean function for the circuit given below

-
f
¢
<
.
¢
2]
r

Y

|
i Camp>—

Then f has an expression

(A) xx'+ yy'+ 22’ | BYxX'+y+ 7 +xyz
O (x+y+2) - (X+y+2) Dyxyz+x'y 7

(E) W+ y'+2) - xyz

is

http://education.mathrubhumi.com 17



79.  The point (4, 1) undergoes the following three transformations successively

(i) reflection about the line y = x

(1)  translation through a distance of 2 units along the positive direction
of x-axis

(iii) rotation through an angle of % about the origin in the counter

clockwise direction

The final position of the point is

17 17
(A) (*ﬁ—ﬁ] (B) (”_\/—E’ﬁ) ©) (-42,742)
D) (v2.742) E) (V2-742)

80.  Suppose a circle passes through (2, 2) and (9, 9) and touches the x-axis at P.
If O is the origin, then OP =

(A4 B)S5 ©)6 (D)9 (E) 11
81. If e =dag+a, X+ a, x> + - - -, then
(A) a, =1 (B) a,=e (O a, = e (D) ay = e (E) a;, =0

82.  The period of the function f(x)=|sinx|+|cosx| is

@wxm  ®Bm O O ® %
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83.

84.

85.

86.

87.

The equation of the line passing through the origin and the point of

intersection of the lines X+2 =1 and £+2 =1 is
a b b a
(A)ybx—ay=0 B)x+y=0
Cyax-by=0 D)yx-y=0 (E)ax+by=0
If @ and b are unit vectors such that [a, b, ax b]= R then angle
— -

between a and b is

T i T T W T
(A) 3 (B) 7 ©) 3 (D) > (E) IG)

2 2 2 2

If the eccentricities of the ellipse % + );— =1 and the hyperbola % SR A

5

are reciprocals of each other, then b* =
(A) 192 (B) 64 (C) 16 (D) 32 (E) 128

The order and  degree of  the differential equation

Vsin x(dx + dy) = Jcos x(dx - dy) is

(A)(1,2) (B) (2,2) (OX¢NY) D)2, 1n  EO1

The domain of the real valued function
fx) = J5-4x-x* +x° log(x +4) is
(A)-5<x<1 (B)-5 < xand x> 1

(C)-d4<x<1 (D) @ BY0<x<1
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88.

89.

90.

91.

l—a3 +05—...+a49

Ifa,a., .., a,are in G.P., then ¢ =
(A)0 (B) 1 ©L o @
a, Q4 3a,

Suppose the number of elements in set A is p, the number of elements in

set B is g and the number of elements in A x B is 7. Then p® + ¢° =
(A) 42 (B) 49 (C) 50 (D) 51 (E) 56

The value of cos (2 tan™" (=7)) is

4 49 24 YRR
A) 55 B) -55 (&) 55 (D) ~ 52 E) 79
n
J-|cosx| dx =
0
(A)% B)-2 . ©1 (D) -1 (E) 2
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sin 2x
92- P ————— dxz

J.(Sm?)xsmf)x)

(A) log_ |sin5x|-Llog |sin3x|+C
5 ge x 3 ge

(B) «Imlog. lsin3x|~-1—log [sin5x]|+C
3 e 5 %el”

O —l—log [sin3x|+llog | sin5x | +C
3 e 5 e

(D) ~Leos2x+dio | sin3 |+li | sin5x | +C

2 3 0B IS X |+ 5108, I

1 1, 0,4 1 .
(E) —ECOSZx—gloge fsin3x]| Sloge |sinSx|+C

2i =3 1
93. If |3 3i -1 =x+iy, then
4 3 [
(A)x=3 y=1 B)x=2 y=5
O x=0y=0 D)x=1y=1 E)x=0y=5
_ dy
94. Ify=log, x,x>0,then —= =
dx
1 1 1 1 1
(A) = (B) — (C) —log,a (D) ~log,x (E) —log, e
X ax X a X
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95.

96.

97.

98.

99.

IOC4 lOCS llc

m
The value of “C6 11C~,- 12Cm+2 =0 whenm=

12C8 12C9 13Cm+4
(A)6 ®B) 5 ©) 4 @)1 (B2

.. ) ) 7.
The minimum value of 2 cos +§i—;—é+x/§ tan® in the interval (O, 5)18

(A)2+ 2 (B) 32 (C) 23 D)3+ V2 (E) 7

|
If = + thenn =
4 5 6
Ct‘l CH C

n

(A) 3 (B) 2 (©) 1 (D) 0 (E) 4

Let X, and X, be solutions of the equation sin” ( xt—3x + %) = % Then

the value of xl2 + xzz 1s

(A)4 (B) 5 ©2 = D6 ®) 2

If the points (-1, 2, =3), (4, a, 1) and (b, 8, 5) are collinear, then a and b are

respectively equal to
(A)Sand5 (B)9and 5

(C)5and 9 (D)-5and 9 (E)5and -9
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100. The locus of the point (I, m) so that Ix + my = 1 touches the circle

2 .
¥ +y =d’is

(A)X+y —ax=0 (B)x2+y2=—6-z—12_
(C) y* = 4ax D)X +y —ax—ay+a* =0 (E)x~* =d°

101. If the derivative of the function f(x) is everywhere continuous and is given

2 . - _
by f(x)z{bx *2‘1'”4 ) A< 1, then
ax"+b : ix<~l
(A)a=2,b=3 (B)a=3,b=2
C)a=-2,b=-3 (D)a=-3,b=-2 (E)a=-1,b=-2

102. Leta=e 3 . Then the equation whose roots area+a>and @’ +atis
(A)x* -2x+4=0 B)x*-x+1=0
(O)X*+x+4=0 D) x*+2x-4=0 E)x*+2x+4=0

103. Letn=2006! Then ——+—1 4+ 4+ 1

ogon loggn  logysn

(A) 2006 (B) 2005 (C) 2005! (D) 1 (E) O
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104. Je‘{logsinx—i—cotx} dx =

(A) e*cotx+c (B) €' log sinx + ¢

(C)e'logsinx+tanx + ¢ (D)e" +sinx+c

(E)log (sinx +cosx) + "+ ¢

10
10s. | log[ -“”de =

a—x
-10

(A)O (B) -2 log (a+10)

aa.-

©) 210g( a +;8) (D) 2 log (a+10)

(E)2

106. If f(x + y) = f(x) f(y) for all real x and y, f(6) = 3 and f(0) = 10,

then £/(6) is

(A) 30 (B) 13 (C) 10 (D)0
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\[13 + \E 2\-[5 \[5_
107. The value of the determinant, |15 ++26 5 J10] is

‘3+J6_5‘ J5 s
(A)S(JE—S) (B)sﬁ(JE—s)
(O5(V6-3) (D)2 (7 -+5)

(E) 3(v5-+2)

108. If o, o, O3, U4 are the roots of the equation F+Q-B)F+2 +43 =0,

then the value Of(l_' o) (1_ 012) (1- (13) (I-dy) is

(A) 1 (B) 4 ©)2+3 (D)5 (E) 0

109. The values of A so that the line 3x — 4y = A touches
X*+y—4x-8y-5=0are

(A)-35,15 (B)3, -5 (©)35,-15 (D)-3,5 (E)20,15

L Then tan £ is equal to

110. Suppose 0 <t < 2 andsinz+cost= 3 5

2

(A)2 (B) 3 (©) % D)5 (E) é
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- A A A AA A
111. The point of intersection of the lines r =7i+10j+13k+s(2i+3 j+4k)

-S> A A A A A A
and r =3i+5j+Tk+t(i+2j+3k) is

AN A AN A
(A) i+ j—k (B) 2i— j+4k

AN A A A A A A A
(C) i-j+k (D) i-j—k (B) i+ j+k

112. The value of cos 480° . sin 150° + sin 600°. cos 390° =

(A)0 (B) 1 ©) é— (D) -1 (E) -%

X
113. Define f(x) = j sin dt , x> 0. Then
0

(A) f isincreasing only in the interval [0, 123
(B) f is decreasing in the interval [0, 7]
(C) fattains maximum' at x = 323

(D) fattains minimum at x = 7

(E) fattains maximum at x =17
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114.

115.

116.

117.

Let f(x )=

(A)O

Sll'l x

(C) %_COSTUC+C

2

. Then [(f(x)+ f(=x))dx =

For the Arithmetic Progression

a,(a+d), (a+2d), (a+3d),...,

n(n +1d
-1

(A)

n(n+1)d
(B) T 2n+1

©) —=;

n(n-10)d
2n+1

(D

(n+1)d
) P ()

B)x+C
1 cos?mx X sin 27mx
(D) e +C (E) " " an +C

(a + 2nd), the mean deviation from mean is

n(n— l)d
2n -

If the angles of a triangle are in the ratio 3: 4: 5, then the ratio of the largest

side to the smallest side of the triangle is

ORI

 Sio (x+y)

V3 +1
2

_a+b

sin(x—y)

2
(A) 2

" a-b

a
(B) 3

Il
tan y

tan x

© 2
a
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N

E
()2\/5

a’ -b?

a’ +b?
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118.. Let R be a relation on the set of integers given by a R b & a = 2°- b for
some integer k. Then R is
(A) an equivalence relation
(B) reflexive but not symmetric
(C) reflexive and transitive but not symmetric
(D) reflexive and symmetric but not transitive

(E) symmetric and transitive but not reflexive

119. The position of reflection of the point (4, 1) about the liney=x—11s

(A)(1,2) BG4 OEL0) OE2-D EE3)

120. Derivative of scc'l( )w.r.t. sin"'(3x—4x>) is

1-2x?

1 3 2
(A 7 (B) 3 ©) 1 (D)~3-— (B) -3
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